
3 dm      =       ..............     m 10 m      =       ..............     dm

3,16 dm      =       ..............     m 74 dm      =       ..............     m

53 m      =       ..............     dm 13 m      =       ..............     dm

10 dm      =       ..............     m 62 m      =       ..............     dm

2,51 dm      =       ..............     m 4 m      =       ..............     dm

29 dm      =       ..............     m 41,5 dm      =       ..............     m

10 m      =       ..............     dm 6,56 m      =       ..............     dm

11,6 dm      =       ..............     m 36,7 dm      =       ..............     m

93,71 dm      =       ..............     m 9 m      =       ..............     dm

67 m      =       ..............     dm 6,2 dm      =       ..............     m

0,6 dm      =       ..............     m 4,7 m      =       ..............     dm

7,4 dm      =       ..............     m 1 m      =       ..............     dm

3 m      =       ..............     dm 3,23 dm      =       ..............     m

5,2 m      =       ..............     dm 5,4 dm      =       ..............     m

3,5 dm      =       ..............     m 4 m      =       ..............     dm



3 dm      =     0,3 m 10 m      =     100 dm

3,16 dm      =     0,316 m 74 dm      =     7,4 m

53 m      =     530 dm 13 m      =     130 dm

10 dm      =     1 m 62 m      =     620 dm

2,51 dm      =     0,251 m 4 m      =     40 dm

29 dm      =     2,9 m 41,5 dm      =     4,15 m

10 m      =     100 dm 6,56 m      =     65,6 dm

11,6 dm      =     1,16 m 36,7 dm      =     3,67 m

93,71 dm      =     9,371 m 9 m      =     90 dm

67 m      =     670 dm 6,2 dm      =     0,62 m

0,6 dm      =     0,06 m 4,7 m      =     47 dm

7,4 dm      =     0,74 m 1 m      =     10 dm

3 m      =     30 dm 3,23 dm      =     0,323 m

5,2 m      =     52 dm 5,4 dm      =     0,54 m

3,5 dm      =     0,35 m 4 m      =     40 dm


